Class 8 Worksheet 2

St. Mary’s School, Dwarka
Holiday Homework
Class: VIII
Worksheet 2

Subject: English

General Instructions:

1) The work should be done neatly and systematically.

2) The given questions are to be done in the English notebook.
3) Attempt all questions.

No. of questions: 10 M.M. 25
Q1. Read the following passage.

In recent years, mental health has become an increasingly important topic, especially among
young people. The rise of social media, fast-paced lifestyles, academic pressure, and constant
digital connectivity has brought mental health challenges to the forefront. While the internet has
made communication easier, it has also contributed to anxiety, stress, and loneliness for many
individuals.

Social media platforms, for instance, are often filled with carefully curated images and stories,
leading users to compare their lives to seemingly perfect ones online. This can result in feelings
of inadequacy, low self-esteem, and fear of missing out. Teenagers and young adults are
especially vulnerable, as they often seek approval and validation from their online presence.

However, the digital world has also opened new doors for mental health support. Online
counselling, therapy apps, support groups, and awareness campaigns have made mental health
resources more accessible than before. People can now reach out for help privately and
immediately, without the fear of being judged.

Schools and colleges have also begun prioritizing mental well-being. Many institutions now offer
mental health workshops, counselling services, and stress management programs. These steps
aim to remove the stigma associated with mental health and encourage students to speak openly
about their struggles.

It’s important to understand that mental health is just as crucial as physical health. Recognising
stress, anxiety, or depression early can prevent more serious problems later. By building
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supportive environments both online and offline, society can promote emotional resilience and
healthier lifestyles.

The conversation about mental health is no longer something to be hidden. It is a vital issue of
our time that needs empathy, understanding, and action.

Based on your understanding of the passage, answer the questions given below. (1x5=5)
i. What might be a hidden cost of spending too much time online, especially for young users?

1)
a) gaining too much information too quickly
b) becoming too skilled at multitasking
c) developing unrealistic expectations of life
d) improving one’s digital reputation
ii. What can be inferred about people who rely heavily on online validation? (1)

People who rely heavily on online validation they
a) are confident and secure in real-life situations

b) are mostly unaffected by others’ opinions online
c) often face issues with low self-esteem and doubt
d) choose to stay away from social media entirely

iii. What role can educational institutions play in shaping students’ mental well-being?

oy
iv. Which of the following best describes the author’s tone in the passage? (1)
a) alarmist and fearful
b) balanced and hopeful
¢) strict and commanding
d) dismissive and indifferent
v. Choose a suitable title for the passage. (1)

a) Living in a Digital World

b) How Technology Changed the World

c) The Silent Impact of Mental Health Challenges
d) Exercise and Nutrition for the Mind
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Q2. You are Anshika/Ansh. Your friend Meera called to ask your brother to bring her
notebook to school tomorrow, as she had left it at your place during group study. Write a
message to your brother reminding him to take Meera’s notebook, in about 50 words,
before you leave for your tuition class. )

Q3. Fill in the blanks with the appropriate word. (Y2 x 4=2)

Riya (i) for the international conference in Paris last month. She (ii)

about it ever since her research paper was selected for presentation. When she finally (iii)
at the venue, she realised she (iv) her ID card at the hotel, causing a

brief panic before the staff helped her verify her identity.

I. a.travels b. had travelled c. travelled d. was travelling
ii. a.isdreaming |b. had been dreaming | c. dreamt d. dreams
iii.  a. arrives b. arrived c. had arrived | d. was arriving
iv. a.left b. was leaving c. had left d. leaves
Q4. Combine the two sentences into a single sentence. 2

I. The rain started. We decided to go home.
ii. He was sad. He went to the park to clear his mind.

Q5. Read the given extract to attempt the questions that follow.
And | shall have some peace there, for peace comes dropping slow,
Dropping from the veils of the morning to where the cricket sings;

i. The phrase ‘Dropping from the veils of the morning’ primarily suggests that peace

1)

a) arrives suddenly, overwhelming everything in its path
b) arrives slowly and gently as the morning begins.

c) descends quickly, without consideration for the time
d) is something that emerges from darkness or mystery
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ii. What effect does the image of the ‘cricket sings’ have on the tone of the poem? (1)
a) creates a sense of quiet and stillness

b) adds to the feeling of tension and unrest

c) symbolises the chaos of nature

d) contrasts the peace with a loud disturbance

Q6. What does the speaker feel while standing on the pavement in the poem ‘The Lake
Isle of Innisfree’? (Answer in 30-40 words) 2

Q7. How did the student-marchers demonstrate discipline and commitment during their
mission in the lesson ‘The Narayanpur Incident’? (Answer in 30-40 words) 2

Q8. What has caused health problems for the Yup’ik people in Melting Ice in Alaska?

(Answer in 30-40 words) (2)
Q9. At the end of the lesson, The Night the Ghost Got In, what does the narrator mean by
‘He had us there’? (Answer in 40-60 words) 3)
Activity:

Q10. Create an interactive timeline of the key events in The Merchant of Venice on an A4-
size sheet, using markers, photos, and small written descriptions.
e The timeline should include key moments such as the bond agreement, the casket test,
the trial, and the resolution.

Below is a sample for your reference. (@)

THE HOUND OF THE
BASKERVILLES

Dr. Mortimer tells
Holmes about the
legend of a spectral
hound

Holmes and Watson
investigate the
mysterious death of
Sir Charles Baskerville

Watson discovers
the convict Selden
dead on the moor

Holmes kills the
hound and the villain
Stapleton flees
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Subject: Hindi
No. of questions: 10 M.M. 25

fRder — 1 fov s @l uedl @ sor fowd ot saw Jrae | fGfke |
2 oFf ¥aee, g vd WK od | aifbse |

uee 1 fAsafafa smufda e o ygoe sad smur ue waifds 3weda 3w
aret fawey gaor fafke — (1x5=5)
ABGIAl Mol dlcl HIRI Bl Yo Bl A8 ool ¢ fd 3u®l wia fda el o
30z 3ifeic 2 |ere aid 9cid ¢ fo @I off dAeT=I 8% v ®e ®T Abdl &1 1S
decwwlcs waeifde ugfcaeil @ ®Id &l 3eagdd dasid 8 3iiT ddet ufzee @ &
ABeIdl Bl MR HAeTd ¢ |5 Rwld @ 3R 3986 31Uel ¢ weolalu &l 5l wd
dlcT-aIcTl, 3TAIdeNe] o, wcyey dellel ol UArd foen |aul ufteer ova ® ac off
ISl 52l @I el wal 3iiT sfldei-s1% &g o1 ao1 <l | wamifde ugfcaell o siletel
®fcel off o1dl 2 | acuer & @Il Bl dRamT JdRI 51 Abdl ¢ & goar foa ger @1
FHIRI BI9T | URI € ATl Udel eicil & fb BIdt 31y a ®fdar wrel arenm ®fa; T
§ollbe. TcTol dlell welfd, 3 TSl diell TR-8Idb, ,J51 dedel dicll Adfad i fase
d =fa z=ael aren d=ifoies goten | 5@ oe ad fafea &) sme fo g ot =fa fom oo
@l 30T 8, ad Us oeell ey @ 34 el fdua @) Hedt Rlen Gors sme | it fRien
Ul HTd HAGRI 3ol dld- U H o ufeeral A 3ifeles wwel & Addr € |

() ad & 3R ATl el dic] Afdd B FAGH Usel T Gxdell Tlee !
(@) 3mwet foe ox

(Ra) sweft wict & wrf

(1) 3met Gredl @1 wrer

(&) geet & foe wermet

(i) woEly & fawer & Bla-=H aa wd ol 27

(@) wea 3ite Sen-eren e

(Ra) ae Sfiae-ere 2deer o1 det

(a1) @8I SlwT Wy a1 IRI

(e1) Sftael ez 3rar@erel dell <@l

(ill) fReafafua weret( A)den orol(R)® &ieqdes teor 3fd fdwea @1 e
ol |

®erel (A)eS decewles wdlslfded ugfcaell ® ®e ®f 3eaed dasd o |

®rvl( R)safce ufteer o & wwear o1 s dera @ |
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(@) et (A)aen ool R) el atera & |
) @erel( A)dlerd & aen orevl( R) =il 2 |
(31) weret ( A)=adl @ cfse vl R) dtera 2 |
(e1) weret ( A)aen ol R)cls el & |aen sro1( R) weret ( A)®l wd @

(iv) a=a carr f®e 9 gaued & ORI ®f dxadT el 3ol 1o S ADl & !
(V) it fRien ura @ de=I @ e &7

fRefofea gedit @ 3w ddfste— (1x5=5)
Ueel 2 5id il T I o dd fowl 3i% & dwadr & df a5 ol fpen
®ecldl 8 7ed 3arewol dfsie |

sreet 3 fadiuer & fBaal g dld & 73ad e fafe |

X%e1 4 3051 tRcfl =921 oiote 31 <@l € |Rxaifdd uq @ <& gfuard! oreg @=n € 7
ueel 5 ‘3icll i wien ol g clidifed ®f g 3ef & 7

Uesl 6 il 91 et siimell g e ol 31ef fowad ge araa 3 uedier @ifsie 7

yeet-7 fAefoifa vesit @ scae dffe— (1% x2=3)
(®) ‘@ & asr'us A FRae O IU W g 9 A il deell ugt? aen wefl
3 =arer oft ST g3m 2 73Ieera A o |

() aeq-fafiiera @1 aen 3ief & 7usel & eI 3iiw 3051 D WA H FRA-T=I
gcora 3 &7

uea 8 fasafafa ueell & 3cax difste— (1x2=2)

(®) RIS gegiyd of e o e A Tae & foe T=r-a=n 3ue
foe?

() feierel @l & sik 3ol fGare fowd g en?
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bee 9 foe ate fas @ smeare uw 70 A 80 el A vab waredl fafwe— (5x1=5)
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Subject- Sanskrit

fAder- 1 yaca UeeImIel Jcard, Heqd Yfeaerne, va forad |

2 UeSIEIE Jcawdl, Yiarader fofcar Raawemenfa aifea wwofler |

3 e wacee ,Zjcy ¥d W olRGd vd cIaetie |

No. of questions: 10

ueel 1 3reifciflra arcgmer ufdcar sgfdscusst yeest Sara -

M.M. 25

(1x5=5)

GUZeEdl ©dhdl, clfedely? old1 =56l 3IAld | sfRdeigeeRl ofuw=l <ol lledel
3Tl | eI b U=13 Caddls IRl | dadeaw=l dlls ofe J16M 3ITHld | IT8TRIR Y=Iedlel,
&N Scafd el ifetereiol smedle | w2 erdlw: , uwipdl, fugeiaa: ,3amafa:s =@
3IRAYC | eIl deRl URIpdwl ordl wId=l 3181dd | el ojus 2lecie] olieIiasIRreT
AR, 310Te0d, | I Ubl wuddl woen 3ufaerd | =1 eftawzer woen smHld | awims

oIl Wcadd! 3l | eI wUcldue Geedl <ol

Sllede]s dlfca: 3181del | olus cRRIS Sleldbdl, 3UIIRI fAdeuwdld serdeeld, — ol efiaz!
318 cal wudch Y=Ire e fdare wojet sogms | afe ca war wuadt y=ft sreger araifa
dfE 318 ol w5 Jeauq arefal | eiaes sidad, — @ wolel |31ed udbel eIdel weaddl
g qIq eIawilfdl | =I5 sidad — eftd aq | cadl fdd seefa?” diaws saaa - ‘o6
eIdel sfd Id od wd WS IR weddd arwRlfd || Llledel WHIUI, Jdae, — | Ou

HdoTdl ol |

(i )ogue emoereg: siwifaerrr o seTRd ?
(®) wrardza

(Ra) eTeTRIRCATa

(1) wreerraITeAizaL

(a1) orefarIcizar

(il ) wfese gat sfedenyg? omer wsere smefta ?
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(ii1) Cagerer dgs ol @I 3mefla ?
() et

(=a) @tem
(ar

P
&
~— —
. .
2]

(iv) a1 dadawn wwipdr ol Ada et ?
(Ra )areTrazerme

(a7 ) 2gaTarzerenrey

(a1 ) dterarermen

(V) ‘siaea sfad fdemuewn o cior: ° &R |

(®) ag eigs cleei®res |

(Ra) ae aIgR clcgT®IRs o |

(1) e enge ciegTpre: @

(&) ae urqgs cieTcidRs d |
yeel 2 faS qeal IPoRI Geaualel  weRIaRn Ryawemea gra — (6 xa=2)
AP — G , AGTDIR ,m,ﬂﬁiﬁﬁ‘
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uee 3 Sfiafs gafd fRian seifdfd wad  qraa — (Yoxa=2)

A5 — &dl , dal , ofewnfd |, 3fKdde

faar - ! e1arer foarefa wagwamifa sfaawior o zemafa 7

fdar - efaas [2]------ vd ol foad a1adl Yedmlial 3fdd wermet
ZRIgRIfc |
Y8 — Yot ®dd o [3]------ |
fdar - waa af4].......... Wd ©d ¥d dde Ulelley |
YR - 369 ufdsll orifdl 3reras $col o dfvwnfd |
Teet 4 yzae duomefer yerers ufd wer fraa (%x6=3)
IO — g, UDIREd , INTHARIE, [E®dd , 3UeE, WwRd
HARIE
oft1Ie1, UgctIb GG,
RTIell AP UdbIRIE 2iwe,
afeereist, fGeet! |
HATRIATIS,
s3red [1] ------ B i | etaar [2] ------ 3¢ werrRme [3] ------
fasere[4] ------ 316 TagEddrct [5] ------ | 318 ad [6] ------ sooIfal | QU
wftes wedqd RIb<old, H61-3 it fwre |
aracten favaraur:s
GileRIE
ueel 5 ®iod yauk fdd wem s Reaeemnfa grea- (Yo xa=2)
(1) @ f@Emetd (50) .cooveevennene... DEITR foRT |
(3) wdul gea®ETe AT (40) ..oocovneee... TRIBIOT AT |
(2) gafemeR  (23)....cene.... GRIBE Tl Tl |

y2el 6 sreifafRdy Reaemy ggfd yerl wRisa awygd gea — (x2=1)
1 TBLE TSP, YTABI ( &1+ geper) smuvi aresfa | |

2 daeEl weme, —— (9 + qael ) <CdreTad aresfa |
ueal 7 afdwl vafdcr yad werl wwgd foraa | (Yo xa=2)
2330 , 5300, 6345 ,8815
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g 8 wifdd UGd gy Uge faddiear -
(1) gerea aer «eafd |
(2)_siistusiuf? eiRaeter, 3ireeer |

ufZeiisen orRf
¥edd 10 Uuad A 53 o e um @1 Fdier semse |
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Class 8 Worksheet 2

Subject: Mathematics

No. of questions: 10 M.M. 25

General Instructions:

. The work should be done neatly and in a systematic way.

. The given assignments are to be done in the math notebook.

QL. Fill in the blanks : (0.5x4=2)
(i) Zero has reciprocal.

(i) Rational numbers are not closed under .
(i) The product of two rational numbers is always a
(vi) The reciprocal of a negative rational number is

Q2. Choose the correct option: (1x2 =2)
i) The value of x for which the expression 5x-13 and 2x - 1 become equal is :
a) -3 b) 0 c)5 d) 4

ii) The digit in the tens place of a two-digit number is 3 more than the digit in the units place.
let the digit at units place be b . Then the number is :

a) 11b+30 b) 10 b+ 30 c) 11b+ 3 d)10b+3
2 3x
yxy—2=5_22
Q3. Solve the equation and check your answer : 5 5 2

Q4. Note down your admission number. Take x times of last digit of your admission number

and add your roll number to it . Put it equal to your age and solve the equation for x. 2
Sx+11 —
Q5. Solve the following equation :  3x+& (@)
Q6 . Check and verify z=6 forequation : 5z2=15+2(6+2) (2)
Q7. Simplify the following: 3)
(i) 5/7 + (-3/4) (if) (-1/10) + (-8/5) iii) (-8/19) + (-4/57)

Q8. Eighteen rational numbers are multiplied together. What will be the sign of the product

explain with examples and write your observation. (3)
1) 15 of them are negative and 3 are positive?
i) 9 of them are positive and the remaining are negative?
iii) all are negative?
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Activity:

Class 8 Worksheet 2

Q9 Simplify the following
-4 3 4){3 1 56 1 1

(@) —X—-+—-X— b) =xX=+—-x—
NI A 0) X377

Exterior angle property of polygon.

(2x1.5=3)

Draw at least three polygons, measure their exterior angles using protractor, find the sum of
exterior angles of each polygon and verify the exterior angle property of polygons. (to be done

in practical file) .

Page 13

(4)




Class 8 Worksheet 2

Subiject: Science

General Instructions
* Neatly write the answers in a separate thin notebook.
* Attempt the questions keeping in mind the weightage of each question.

No. of questions: 10 M.M. 25
Worksheet 2
Q1. Which of the following factors determines the pressure exerted on the surface? 1)

A. Only the magnitude of the force applied.

B. Only the area over which the force is applied.

C. Both the magnitude of the force and the area over which it is applied.
D. Neither the magnitude of the force nor the area.

Q2. A few healthy gram seeds are placed in each of the three pots X, Y and Z containing the same
type of soil. The soil in pot X is mixed with some green leaves. The soil in pot Y is mixed with
old cow dung while soil of pot Z is mixed with urea. Pots are watered regularly and given proper
environment for plant growth. Which of the following will be observed after 10 days?

A. Lot of growth in Z with replenishment of all the nutrients. 1)
B. Lot of growth in X without replenishment of any nutrient.

C. Lot of growth in V with replenishment of the nutrients.

D. Both (a) and (c)

Q3. Assertion (A): Ploughing the soil before sowing improves air circulation in the soil.
Reason (R): Good air circulation helps the roots to respire properly. 1)

(A) Both assertion and reason are true, and reason is the correct explanation of the assertion.
(B) Both assertion and reason are true, but the reason is not the correct explanation of the
assertion.

(C) The Assertion is true, but the reason is false.

(D) Both Assertion and Reason are false.

Q4. Give reason: 2

A.lIt is easier to cut vegetables with a sharp knife than with a blunt knife.
B. Camels have broad and padded feet.

Q5. How does the formation of petroleum differ from that of coal? What does this difference tell
us about their availability and use? (2
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Q6. A square block of wood is placed on a horizontal table. Four forces are applied to the block
as given below: )

Force F1 =12 N, acting to the right
Force F2 = 7 N, acting to the left
Force F3 = 3 N, acting upwards
Force F4 =5 N, acting downwards

A. Draw a free body diagram representing all the forces acting on the block.

B. Calculate the net force acting on the block in the horizontal direction and the net force in the
vertical direction.

C. In which direction will the block move and with what net force.

Q7. A factory in your town uses coal as fuel. Nearby residents complain of smoke and 3
pollution.

A. Explain the harmful effects of coal combustion on air quality.

B. What concerns do the residents have?

C What reasons might the factory give for continuing to use coal?

Q8. Below is a diagram showing a modern method of irrigation.

Water source

¥ Dripping of water
\ YRV s;ﬁ
AT 4 N —NF— Irrigation tube
W,V [l w, N\
j J
H
Answer the following:
A. Identify the method of irrigation shown in the diagram. 1)
B. Mention two advantages of this method over traditional irrigation. 2

Q9. A student, Neha, is enjoying swinging on a playground swing. She starts by sitting still, then
her friend gives her a push to start her motion. Neha notices that she moves back and forth in a
curved path. She also observes that to go higher, her friend needs to push her again at the right
moment. Eventually, if no one pushes her, the swing gradually slows down and stops.  (4)
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A. When Neha is sitting still on the swing before her friend pushes her, what is the net force
acting on her? Justify

B. When her friend gives her the initial push, what type of force is being applied to Neha? What
effect does this force have on Neha's state of motion?

C. Neha tries swinging by herself by leaning back and pulling on the chains at the right times.
What type of force is Neha applying to the swing to keep herself in motion?

D. Identify one contact force and one non-contact force acting on Neha when she is swinging.
Briefly explain what makes each force a contact or non-contact force.

Q10. Activity: (5)

Create a comparison chart between traditional and modern farming methods using the following
five criteria:

. Tools used

. Irrigation methods

. Type of labor involved

. Efficiency (time, output, effort)

. Impact on soil and environment

Present your findings on a neatly drawn table or a Venn diagram. Use drawings, color coding,
and labels.

ga A W N P
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Subject: Social Science

General Instructions:

Q1.
Q2.
Q3.
Q4.
Q5.
Q6.
Q7.
Q8.
Qo.

Q10. “The resources on Earth are unevenly distributed.” Elucidate the statement

e The work should be done neatly and in a systematic way.

e The assignments given are to be done in the History and Geography notebook.
e Mention the number of worksheets while doing the work.

e Write all the questions along with the answers.

No. of questions: 10 M.M. 25

What do you mean by archive? Where is the National Archive of India located?
What do you understand about the stock of resources?

Give any two examples of renewable resources.

Mention any two factors that help in the development of resources?

Why did the British preserve official documents?

What is the significance of the Preamble in the Indian constitution?

How can the gift of Nature become a resource? Explain with an example.

What is a resource? What are the criteria for any substance to become a resource?
Write the importance of Federalism and Separation of power.

W W WP NDNNNDND R PR

Project Based Activity-History

ol

Map and Timeline Project

e Instructions:
o On one page, draw or paste a map of India showing:
m Major British trading posts (Surat, Madras, Calcutta, Bombay)
m Key battle locations (Plassey, Buxar)
o On another page, create a timeline of 5-6 important events (from 1600 to 1765).
Arrival of Vasco da Gama in India
Formation of the East India Company
Battle of Plassey
Battle of Buxar etc.

Tip: Add arrows, icons, and dates for a neat visual.
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Subject: Computer Science

No. of questions: 10
Worksheet 2

Answer the following questions

1. List any two benefits of using functions in programming.
2. How is break statement different from continue statement?
3. Describe the process to create a function.

4. Mention any three advantages of loops.

5. Explain briefly the three different types of control structures.

6. Differentiate between repeat and forever loop.
7. Write the well labelled syntax of function.
8. What is a jJump statement? Name them.

9. Choose the correct options:

M.M. 25

i) What is the primary purpose of using functions in programming?

(@) To make the code run faster.
(c) To organize code into reusable blocks.

i) What is a parameter in a function?
(@) A value that is returned by the function.
(c) A variable that is defined inside the function.

iii) What is an argument in a function call?

(a) The definition of the function's behavior.
(c) The actual value passed to a function's parameter.
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(b) To reduce the overall size of the program.
(d) To confuse other programmers.

(b) A variable that is passed into the function.
(d) The name given to the function.

(b) The name of the function being called.
(d) The line of code that calls the function.
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10. Find the output of the following. 3
i)

ii) for i in range(5):
ifi==3:
break
print(i)

iii) for i in range(1, 6):
ifi%2==0:
continue

print(i)

Activity:

Using adobe express design a poster on World Technology Day

Note: Type new.express.adobe.com to log in to your Adobe account.
Your username will be your Microsoft ID( eg:- xyz1234@stmarysschooldwarka.onmicrosoft.com)
Download the poster and
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Subject: Elementary Mathematics

No. of questions: 10 M.M. 25

Q1

Q2

Q3

Q4

Q5
Q6

Q7
Q8

Q9

Activity:
Q10

Choose the correct option : (1x4=4)
(i) The sum of 30303 +0 =
a) 0 b) 300303 c) 30303 d) None

(1) 999 +1 =1 + 999 is same ?
a) Yes b) No

(iii) 999 — 1 =1-999 is same ?
a) Yes b) No

(iv) Sumof 5, 15, 25
a) 60 b) 70 c) 20 d) 45

Add the following numbers by writing in vertical columns: (1x3=3)
l. 26,12,828 and 1,62,357

. 2618; 25,59,163 and 3,53,21,638

Il. 1,350,617; 72,168,059 and 62,800

Subtract the following: (1x3=3)
l. 30,000,002 — 1,638,565

. 2,48,89,162 and 1,52,63,528

[l. 36,10,281 from 6,28,91,252

Mr. Malhotra bought a plot for X 313000. He spent X 1925585 to build a bungalow on it. How much

was the total cost of the plot and the bungalow? (2)
What should be Subtracted from 12,735,213 to get 673,005? (2)
Rs.3,85,950 was given by the government to build a road in a town. The people of the town
collected Rs. 65,175 more. How much money was available to build the road? (2)
Subtract the sum of 64298 and 16357 from 959823. (2)
A water tank stored 359600 liters of water, out of which 160200 liters of water was distributed.
How much water is left in the tank? (2)
What should be added to 3,50,367 to get 1,89,25,853? (2)
Collect age data of your 10 friends and rewrite that numbers in Roman numerals. 3)
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